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Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

9fle) - I/SECTION -1

oSG NaTEEEHHEGLD Qen_waf&Esay. 15x1=15

QarH&slIUL L BT SerLsafled WHsa|b gL enL_ulenes
CsibsH 5SSl GO HLen Qe WGenamuyid CETESI eT(PSLD.

Answer all the questions.

Choose the most suitable answ

er from the given four alternatives and write

the option code and the corresponding answer.
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au@slurl_Lawli9é ugeaksarrdu o 19 &@Ha& G0 QLweT® oren

Qafelgsaur :

(<31) @morTs (<=4,) Slenarien (@) grenGr () GeBlwp
“The extinct Fossil Forms to be included in the table of classification”, was insisted by .
(@) Lamarck (b) Linnaeus (c) John Ray (d) Cuvier

o Gymo Adisseler CUIS) FHERIGD SNEEHET

(1) wrulSflugsens (<) 2-grefilgrad
(@) Gengwe Gusadioed (FF) SATSLITIT eLena
The goose flesh is formed due to the contraction of :

(a) trapezius muscle () diaphragm

() gluteus maximus (d) errector pili

‘B’ cuens @USSID e @l wall, Ur(héEE QIsss05 QUIPREIGETLD ?
(<1) AB Lopmid B euens GrEsid 2 AL WAITSHEHES

(<) B imd O cuens Qrssio 2 ML IGITEEHEES

(@) O wpmb AB euens GQrSsL0 2 ML WIAITHEDES

(F) A wpmid O s QIS 2 DL WAITEEHES

To whom does ‘B’ blood group person donate blood ?

(a) persons having AB and B blood group

(b) persons having B and O blood group

(c) persons having O and AB blood group
(d) persons having A and O blood group
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‘e 2 ulfsefdar Asmiigd’ rar @PSSILEHLD STELD :

(=) ureCuwrGsmis smeLd (<2p) L ig&aflen SraLD
(@) $Cerr Comuils () Bensaflen smeod
Cradle of ancient life is :

(@) age of palaeozoic (b) age of mammals

(c) age of cenozoic (d) age of fishes

‘Fré’ -ler alld @senL e CsrLienLwg :
(=) Fr&EsS Carerorse <) @eesQsnrEsd

(8) epiiysCGyramed () Gergged
Sach’s law relates to :
(a) gastrulation (b) gametogenesis

(c) organogenesis (d) cleavage

Spauauaaiperpll Gurmss sflwre enL_mWws STES.
(i) GeTmavLom LILeOLD - ) &g GarpoLd
i) el CLrsmamgflwm - )

) Slyeu Quorenss wrSfl

(i) Gsmeans 2 MILIL|G6T
D) &g Qeealesn cumed

(A

®) urs Gausluy

(@
(v) Qe AGumresar -

(iv) - (©

(

(iv

(@) (-0 @-@) @-6 -

(<) ()-B) (@-(©) @@)-®) - @A)
(@) ()-© G@-@) @-B -0 )
(m) ()-(©C) @-@ @)-@) ®)-E6)
Match the following and find the correct answer.

n

(i) Plasma membrane - (A) Oxidation

(i) Mitochondria (B) Store Proteins
(i) Golgibodies - (C) Fluid mosaic model
(iv) Centrioles - (D) Sperm tail

@ @-0) @-@) @-6 -

b @-@ @-©O -0 @

O ©-©O @-@) @-@ -0

@ ©-© -0 G@-@ -6
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Gsaft cuaritiLsiisafe aerisalL@D srgmear @bHus Coaf :

(1) geiv S ACermym (=),) eridlev Gemig &

(8) adev LriGsrr () Copamblu Sienamsgib

The Indian honey bee which is/are used commonly in bee-keeping industry :

(a) Apis florea (b) Apis indica

(c)  Apis dorsata (d) all the above

GSlersailan <yribL sre LPTGETTIGEHET :

(<=t) Sapfluwmr (<) @Cwrabliivien
(@) e Cearrgriger (FF) F@Geuev

The earliest ancestor of horses were :

(a) Seymouria (b) Eohippus

(c) Dinosaurs (d) Equus

G mi® sensuller auigeuld :

() euiL- augoui () 5817 cwgaud
(8) waCarenr auigaild (F) Endwu aulg qut
The shape of deltoid muscle is :

(a) circular (b)  square

(c) triangular (d) slender
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10. Spssrgmd pemgnpiyseid mme Qsdalar 261 QuTELamens 5D

CsrEumus sTiHss ?

(1) erenCGLmerms cuane (=) ol CLramer_Mwir

(8) epCurGerbger () evaGarGerbser

Which one of the following organelle forms the intra cellular transporting system ?
(a) Endoplasmic Reticulum (b) Mitochondria

() Ribosomes (d) Lysosomes

11. “Guenepwow|pp serfeuar” eranm HeP&SILGHS

(1) upeeusET (<=4) L EeT (@) seuemarsar () pgeneger
Glorified reptiles are :
(a) Birds (b) Lizards (c) Frogs (d) Crocodiles

12. ‘sbuefl wrepansar Ligeutisermss Sl &@n @b :
(1) gCrriur (=) evadfAwm (@) wGeufwr () ssmym
Fossils of woolly mammoths were obtained from :

(a) Europe (b) Siberia (c) Bavaria (d) Sahara

B [ HBLys / Turn over
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13. Ganreorar _fé wrugnsser sramiL@eg) :
(1) L CLrGsmbsele wL G
(=) x - GCrrGuwrCsrbseia I FHLb
(8) x LHmb y EGCrrCuwrGerbaseiid L (HLD
(F) v - @CrrCuwrCGeribaafd Ll Hib
Holandric genes occur on :
(a) autosomes only
(b)  x - chromosomes only
(c) xandy chromosomes only

(d) y - chromosomes only

14. &Gy Gsr@ésiu’ L masald sfurst QuImBSTS Gaenr aE 2

(<=1) wanflgas (6 - @& eT@)LDL&ET

() PLRBEISTE - PEsT Hdgy

(8) QsrerL er@ubyy - Baw ereyibyy

(FF) jlee - QeEUCuIbLY euemeTwDd

Which one of the following is not a correct pair ?

(@) Wrist - Carpel bones
(b) Knee - Patella

(c) Femur - Longest bone
(d) Atlas - Pelvic girdle

15. e Cuameiler Hmbrs erenL :

(=) 75 & (<=2p) 150 &) (@) 250 & (FF) 135 &
The average weight of kidney in adult female is :

(@ 75g (b) 150 ¢ (© 250g d) 135¢g
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91fley - II/SECTION - II

soaCugd gm AarésErssE ooLwel. efam oam 21 -&E

eflenwefiling &L muwmg.
Answer any six of the following. Question No. 21 is compulsory.
‘LN&ESL I ST’ eTemmTa) eraten ?

What is “ice age” ?

‘ST — QWG — cuenFwim).

Define half-life.

2 euraurall LiwenU(HD pamhser @reamgen Cuwflener er(pgs.

Name any two edible crabs.

Ber Omigufer LweamLGEsIuGL gCsaib @ram® U

Bir greuy QUWiTEmETS Fnns.

Name any two rooted plants used in aquarium.

B - wCurens._(Hsaflen Ceuamad wirg ?

What is the function of B - lymphocytes ?

6x2=12

Geulr QsmeseT

waflgaflar Game “ue Gzl eflpuenart” eran Qurgleurs SenpssiLBeg

eyeum ?

Human skin is commonly referred to as “Jack of all trades”. Why ?

[ §pLiys / Turn over
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25.

26.

27.

aPsE® 2 ullfiser srampre eremen ?

What are triploblastic animals ?

2 Wi auerstium Igwiellén LaT&er wrenes ?

What is the characteristic feature of biological taxonomy ?

TRSCTT erravCLrflen oS CLelled - D & QPNES CrlBEngl. THS

aieswurer QupGpriser @Bst) Wrésmeanew rélit QarardpmiseT ? NeT&GS.

Ervthroblastosis fetalis causes death of foetus. What kind of parents face this
problem ? Explain.

19fley - II/SECTION - II

stemauBuend gm AamssErdsE eleorwel. oflam eran 30 -5@&

SlenLwefliug SLLTUWLTELD. 6x3=18

Answer any six of the following. Question No. 30 is compulsory.
e Gamfepl el wler ewLliemu ULD uamibgl LITELSmEsS Ghl&se] .

Draw a neat labelled sketch of hen’s egg.

ynliuerL wHmib siuaL widmbg Ceramib o mliysefsr QUUTsears
GOILGRS.

Name the derivatives of ectoderm and endoderm.

wCr — Weeflar Carlur® updl sméswrear CSTGLIL SHs.

Give a short account of Urey - Miller hypothesis.
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A SUQR @ Qe 3 . . .
W SEQ ol Qg uilan g linm SHEIaHms s,

Write the basic pring }
¢ principle of a compound light microscope.

QEQ D My & o .
2lLAD ». IPLINEESILHD QeuaiGoum <HOGHSEET eT(HSIS.

\\\ﬁ“\ t-l\ N\ . . \
© Various units of measurement used in cell biology.

WarrabQumgub, walgafie wCoRwurme o ar@ LATESDSI- 2(Gg 2 udflemd
Jdarsalan sLdlgy srariu@dpg. BT Q&g &seT
QarraGomgugfamsd @Qpuudos. ger ?

Plasmodium causes malaria in man. The same organism is present even in the body of
mosquitoes. But mosquitoes do not die due to Plasmodium. Why ?

Lprelar peaulen iU aEGEs.

Describe the structure of the brain of pigeon.

aNar&sh SO®S :

(=) Dewrbirs syLnalser
(=) L Ten&lesaT
Explain :

(@) Lymph nodes

(b) Tonsils

@SN & CnQ updl eTPSIS.

Give an account of the thymus.

[ $®muys / Tun over
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91fley - IV/SECTION - IV

5x5=25

enensgl ellanrssEns@ efenwefl.
Answer all the questions.

Aokgossdar odamg@seaid, GayGuol aflomes s fe uflerrmo
auaTiEflep BieL_peareuts sHSLILGSADS. Q@S BwumuiuGESS-

3|6V60G)
ypreden gweid Qsr@Lkben emwlianL efleufl.
The order : Primates is considered as highly evolved among the animals of the Kingdom :
Animalia. Justify it.
OR

Describe the arterial system of Pigeon.

@@ leki@ Cleawaler yanwolideen LD aueprhgl LITEHRISMET @GSDI&E&S6]LD.

9|6060F)

LD 2 L_edléh 2 efTar BTENE SIMDE@ETLEL L GSWILD < SaIRCATHOLD AP HS
Qrissms, Asadga Gréshd soLps QrsssHOcps Ailsg Lymofiss
o s Hngl. @S iy LiueLude pibd 2 L el Qe Qrss siphilser o arera.

geunen aTé&Es.

Draw a neat labelled sketch of an ultra structure of a typical animal cell.
OR

The presence of four chambered heart in our body helps in maintaining oxygenated
blood from deoxygenated blood. On this basis, there are two circulations present in

our body. Explain them.
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36. Gsrellen wrpLrGsmas sGHurar UL SgiLar eloufssalb.
SOV
wallgfe uréd @ansHfuser upHE GHOY TWEs.
Explain the structure of skin derivatives with suitable diagrams.

OR

Give an account of sex anomalies in human beings.

37. uiqeudiseT LupBlub Ligeiorsd wpensdr UHHuD @f sG] (SIS,
S{6060G]
o uiflar wermeys ggeinsmmasc'rr wHmd wepedparer srremhsdr LHHl HSTEGUL
eoIMl SHS.
Write an essay on fossils and fossilization.

OR

Give an account on pattern and causes of extinction.

38. Sensaflen QumeTTsTy (P&Huggegms cllaréEs.
3|6060F)]
Fauanemuiled GasevHmoTaTssd (pevpuienen clleu.

Explain the economic importance of fishes.
OR

Describe the process of gastrulation in frog.
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